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I. TRẮC NGHIỆM:
	1. D
	2. D
	3. B
	4. C
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	28. D


II. TỰ LUẬN:
Câu I: a = – 4 m/s2; S = 364 m.
Câu II: 
a) Hướng ngược với hướng chuyển động của vật và có độ lớn là Fmst = 10 N.
b) v = 25 m/s.

Câu III: 
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II. TỰ LUẬN:

Câu I: 
Câu II: 
a) Fk = 9,54 N.
b) s = 0,24 m.

Câu III: 
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II. TỰ LUẬN:
Câu I: v = 25 m/s; s = 150 m.
Câu II: S = 60 m.

Câu III: 
Câu IV: μ = 0,71.
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II. TỰ LUẬN:
Câu I: h = 500 m; t' = 1,0 s. 
Câu II: 

a) 
b) s = 34,03 m.

Câu III: 
Câu IV: t = 0,6 s; L = 5,4 m.
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II. TỰ LUẬN:
Câu I: a = - 0,16 m/s2; ∆t = 12,5 s.
Câu II: Fms = 3,75 N; a = 1,5 m/s2.
Câu III: t = 0,89 s; ∆S = 3,675 m.
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